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1084 d. Dokazati da je za sve prirodne brojeve n ≥ 0 :  12 2196|17 +

−+
nnn  

 

Za n = 1 

 

 
1112 2196|17 +

−+  
221936|17 −+  
221936|17 −+  

51|17  

 

Pretpostavka da  za n = k ,  12 2196|17 +

−+
kkk  

 

Za n = k+1 

 

 
( ) 11112 2196|17 ++++

−+
kkk  

 
2122 2196|17 +++

−+
kkk  

 
12 221919636|17 +

⋅−⋅+⋅
kkk  

 
111222 219219221919617617636|17 +++

⋅−⋅+⋅−⋅+⋅+⋅−⋅
kkkkkkk  

 
112122 219226172191919617636|17 +++

⋅+⋅−⋅+⋅−⋅+⋅−⋅
kkkkkkk  

 
1212 2176172191919619|17 ++

⋅+⋅+⋅−⋅+⋅
kkkkk  

 

( ) ( )1212 2617219619|17 ++

+⋅+−+⋅
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( ) ( )1212 2617|17219619|17 ++

+⋅∧−+⋅
kkkkk  
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